
I. Stuart buys a one-year 135-strike European put with a premium of$16.97. The risk free rate of interest is 5%
effective per annum. At a spot rate of Sat expiration, Stuart's profit is 0. Determine S. [13 #01] 
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2. Marge buys a 6-month 90-strike European put with a premium of$6.27. She also writes a 6-month 100-strike

European put with a premium of $11.97 on the same underlying asset. The risk-free rate of interest is 6% 
effective per annum. The spot price at expiration is $97. Marge's total profit on the two options is X. Find X.
[13 #05] 
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3. Diane writes a one-year I IO-strike put with a premium of$10.93. The risk-free rate of interest is 3.85% effective
per annum. Find Diane's maximum loss. [ 13 #06] 
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